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Not Attempt any Five tlons All questions

1. (a) Whﬁl&du?&ﬁm@emd

ir utnhty in C. Also give their

at are Arrays ? Mlustrate by writing a
program using array. Also demonstrate

$ array initialization.

(2-124-1213) J-6024 P.T.0.



2. (a)

(®)

3. (a)

®)

4. (a)

(b)

What are Strings ? Explain by giving
example. How pointers are related to
strings ? Discuss. y

Why do we use structure ? Explain how
structure elements are stored ?

Derive False Position Formula, What is
the order of convergence . 2. W it find
a root of f(x):xz -x-2=0 in the
internal (1, 3) upto three iterations.

Show that Newton-Raphson method has
quadratic convergence. Evaluate (30)15
using this method correct upto four

~decimal places.

Using quotient-difference method obtain

approximate roots of the W"" $
X)’.-.x‘z.nzx'l'l:ﬁumg.a

Explain the method of iteration for

solution of systems of non-linear

equations. Also discuss the con
condition. B R :

o

5 (a) Solve the system of non-linear

zu!m 7
y=2(x+1)

:

) SR A 2
(b) Explain Gauss-Seidel lte@ﬁon method

and its convergence. it solve the
syswm ofeq\utl -
+z=12
oy +z.= 13

%zv 2y + 10z = 14
terations. :
ain the pmbkm“mwlpobnon and

W '_\amsmv He " ut ‘fqmulq.Fot
the following dau

% of lead(P) :40 50 60 70 80 90
Melting Point (T): 180 204 226 250 276 304

“find the melting point(T) when percentage

(P) is 84, using a suitable interpolation
formula.
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(b)

7. (a)

(b)

J-6024

State Gauss interpolation formula. Unng
suitable Gauss formula, find the valne of
sin(0.197) from the following data :

x v 015 0147 019 021 0.23

smx :0.14944 0.16918 0.18886 0.20846 0.22798

State without proof, Stlrhng's formula M

central mefpolangmi ﬂu.y‘l &h
limitations.

Interpolate the value of y=¢* when
x=19] from the following data :

|
soesgslronhs: 18 S200 "2 22

¥ 1 54739 6.0496 6.6859 7.3891 8.1662 9.0250

Using the Lagrange's interpolation

formula express :

x4+ 6x41

(x-1)(x+ l)(x_-4)(; -6)
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Establish Newton's divided-difference
formula. What is the estimate of the
remainder term in terms of the appropriate
derivative.

Deduce Newton's forward formula as a
special case of it.

Explain Hermite in tion formula.
[llustrate its applic example of
your choice. O
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